H & 0l & AHS B Ml A

I AE22| SH (LT /2T)
Selr Alg2e] 28 245t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
A& A A 2,094,197 1,834,153 260,044
== 117,200
Al 1,976,997
ol SH(Sy2/2g) 56,972 105,700 N48,728
g2 2o 243t 56,972 105,700 N48,728
HARIA 22 56,972 105,700 N48,728
201 Ler2 | 22,372 21,532 840
01 Al 2H2IH 7,812 7,692 120
OSQIAFHIAIA BRI 22
200,00084* 12 2,400
OHIt. &4D| sg2 90,0002 * 122 1,080
OZBLME AL2Z SR
9,000,0002 *10% 900
OAIRA 2% AQE
1200008« 122 1,440
ouerse 66,0002 * 128 7R
OAIRA AIRID| 22E 7Y
100,0008! * 122 1,200
® 2229 14,560 13,840 720
OZZBQILHIA 8,500
omMIIR2 600,00024* 12 7,200
oMFITERS 100,0008! « 12 1,200
o XHS XA 100,0002*1CH*13] 100
ORBZSTAMIE 242
50,0002 *23] 100
OgizH 1,200
o LHtoi 2| 300,00091 %104 A 42 1,200
Oxtsx el 150,0002 *1CH* 12~ 1,800
OIPTV 412 40,0002 *2CH* 122 960
OAIEZHIR Y] 2,000,000 2,000
202 01t 3,600 3,168 432
01 2401 3,600 3,168 432
OAEZE2Y AREX
100,0002 +3% x2 2 +63 3,600
203 LR =AY 1,000 1,000
03 AIB =X FTIY| 1,000 1,000
OAl&z2| g2 =X 1,000,000 1,000
401 Al&HI 2L 2O 30,000 70,000 40,000
01 Al&H] 30,000 70,000 240,000
OAEAA ZRTA AIEE S HH 30,000
oBRMA LS B4 L AT 30,000
Agae|arel XI5 (25 2/250) 351,600 39%,152 A43,552
A& 22|t 2 3t 351,600 395,152 43,552
BRI SR 29 2435 190,600 207,152 16,552




2A:

AE A A

A AlZ2te|ary S (2aY 22 /250E)
SRl AlEaeity 243t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 151,000 148,000 3,000
05 2IMRIE =3 151,000 148,000 3,000
OHHEsE A= Y]
151,000,000& 151,000
401 Al HIZ S OHbI 39,600 59,152 19,552
01 A28l 39,600 59,152 19,652
OHE3E AL S (AY AHEA
=S 30,000,000 30,000
OASY A=2TIIFY 8
4,800,000 2] 9,600
HABZAAE 2S 245t 161,000 188,000 27,000
307 el2to| & 136,000 133,000 3,000
05 2I2tRIE S 136,000 133,000 3,000
OHUEBAAE DS 2|
136,000,000 136,000
401 AIEHIZ SR OHYI 25,000 55,000 30,000
01 Al&HI 25,000 55,000 230,000
OHUEBANE HUOHTT
25,000,000 *14{ 25,000
Aetigteat Jis 2eH(2ad 2 /25H0=) 335,099 389,152 AB4,053
=S 3,600
Al 331,499
SeaEd 2% 2dst 335,099 389,152 A\54,053
< 3,600
Al 331,49
Seetse 2 2l 323,099 364,152 241,053
101 @124H| 25,680 22,717 2,963
M ORIMZZ2NSE S 25,680 22,717 2,963
Ogtsd FAtdel 224 B+ 25,680
S == 59, 1603 x 12 +262 15,500
oFFrd 59,1602 x1&»53 3,136
oZtAH| 5,000 *1& =250 1,250
o HE S I 500,000 1 +23] 1,000
od@Xt=g 59,1603 x 1+ 11 651
oxdI22sd 88,7403 x 1 » 15 1,332
cAHEEE 21,619,000 *13% 2,811
201 2= 221,019 212,211 8,808
01 At22t2lH] 73,458 69,731 3,721
Oels2 29 22| 400,000 123 4,800
O=2gds a4=¢
70,0002 %9 *13] 630
OE2E cIERH MH 2502 +20,000% 5,000
Oog=2 a8d M 50&+30,000& 1,500
ON=ZH 252 70,000,000 *3% 2,100




A AEA A
M NEiEisa Jis AsHIsY2E/250=)
ool Aetssd 2% 2435 (SH9 H2)
M- B - 2(31) - HIRAY - BAS ol &k G o HlmS2
O3S Mt LUHE 2IEXIAI
7,200,0002 *10% 720
O=&g) gtz 143,000& 128 1,716
OB AL S A=H| 800,000&*53] 4,000
OF=)| gtz 40,0002 +2CH+ 128 960
OMlf B B 242
900,000& *13] 900
OdJ|etd e e =2
850,000& » 123 10,200
ORUZHIAIAE KX =2
300,000& =123 3,600
Oz RAZIUHE ===
400,000 12 4,800
OsZI| AL =2
240,000& *23] 480
OsgotMae| il =42
595,000& 123 7,140
OMEAIAE X2 ===
90,000& 122 1,080
OHIHHEAICHHMHIA B2 =2
1,700,000 =123 20,400
Ostaal dinl algr 242
22,0002+ 13CH*12& 3,432
02 E324H| 147,561 142,480 5,081
OZ232=2 & HAl 58,346
ocMIIRS 4,200,0002 123 50,400
ouotrERz 200,000 123 2,400
oSHRB 40,0003 128 480
SHAZ HA 442
1,100,000 & *23| 2,200
SHIE Hh 242
27 &«76,50021 & 2,066
ottt S 2tE 3| 300,000& *13] 300
oIS E 3| 300,000& *12l 300
SEA= el FSE=Keila ] 100,000 *12] 100
o StE gl 100,000& *12] 100
OAld= ZIIHEEE =2
4,870,000 23] 9,740
Od=E2 JJI8E =2
3,575,000& 12| 3,575
Ottt = | 1,900&%21,0002I & 39,900
Oel=2t AlIE2 |Xl2el
3,000,000& =128 36,000
202 04d| 2,400 4,224 A1,824
01 =W OdbI 2,400 4,224 A1,824
Osten YoEA
100,000 *3H x2 2 43| 2,400




SA ANEAMHA
M Heetga Jis 2sH2a Y22 /250=)
el AEteiss 29 243t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 M=l 18,000 16,000 2,000
01 MHZH| 18,000 16,000 2,000
oxdaels Me 7
2,000,000 *23] 4,000
OMEZZId 28z 78
2,000,000 #32] 6,000
O=g & &I &
20,0003 x105+5I 43 4,000
OFAZelE A &
200, 0002 *105*22 4,000
401 AlZHIZ S OHYI 56,000 106,000 /50,000
01 A28l 56,000 106,000 /50,000
O&JI2gd M2 EH
2,000,000 *2CH 4,000
Odiz2=+J| M2 &tl 6.,000,000& +2CH 12,000
Oosgetsa ot I
20,000,000& * 14 20,000
OAetsisa dlaf2d)| Motet Wi
20,000,000 * 14! 20,000
JET U= 29 4sH(AEEE) 12,000 15,000 3,000
< 3,600
Al 8,400
206 MH=HI 12,000 15,000 23,000
= 3,600
Al 8,400
01 MZH| 12,000 15,000 A3,000
OS2 MEZ2 08 uEM M2t
12,000,000 12,000
= 3,600
Al 8,400
MeAgiEa 23 24 S4(2ad 2 /2d) 833,772 770,376 63,3%
= 3,600
Al 830,172
ASAtgt=2 28 gdat 833,772 770,376 63,3%
= 3,600
Al 830, 172
DAUHAANMNER =S 29 362,582 458,636 106,04
101 21AH| 77,236 68,662 8,574
04 JIZtN2Z2XNSE+ 77,236 68,662 8,574
OXAAtEr =2 AUl 23S 77,236
=JllEa 59, 1603 x3H x262! 46,500
oFFd 59, 1603 x3& »53 9,407
o ZHAH| 5,000& x3&»250& 3,750
oEEFIHI 500,000 x3E *23] 3,000




A ANEAMH A
A JoAEE2 23 |4 S4(2ay /)
Selr AgAEE2 29 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o Xtr=g 59,1602 3~ 12 2,130
ogdIRsdY 88,7402 x3& » 154 3,994
cAUEE = 65,031,000 *13% 8,455
201 =3 218,346 198,266 20,080
01 At22t2l] 33,786 30,486 3,300
OXtAtEr= 2 29 170,000« 12& 2,040
O=:2g 228 M
2002 #20,000F+25 8,000
O3t = Mg =29 175,000& 122 2,100
OSB NPEE Y
100,000« 12& 1,200
OogEd AIRIDI 2258 7Y
100,000& ~12& 1,200
ogz 7Y 20,0003 %10 200
O=g)l gz 143,000& 122 1,716
O&=+J| Xz 50,0002 x4l 122 2,400
O AL S A=Y 770,000 %52 3,850
OSQPHIAAY BHA4E
230,000 x 122 2,760
Os23 WEAAY SN2+ 48
90,0002~ 122 1,080
ONe=H =2 90,0002« 12& 1,080
ORISME ST Ao RI2IHEY $42
250,000 * 122 3,000
OZZIZEAHIOIE AIAE s
180,000 122 2,160
O2YARS FH4E
100,000& 10« 12] 1,000
02 S5=2g4l 168,560 141,780 16,780
O=s2= & HAl 9%, 160
cMIIRz 7,000,000& *12& 84,000
ool 2= 200,000& * 128 2,400
oM & IPVR= 60,0002 * 122 720
oM=L AL =58 1,000,000& 22 2,000
oSAINY BYLLE(ZULUE, 322
) 200,000 =20+ 122 4,800
ST WIUA 242
260,000& %12 260
oEINERE= 40,0002 *1CH*23 80
o XS XAl 30,0002 *1CH* 1=l 30
CHUBIIE 57 442
770,000 *12] 770
oft=mst=2E 2l 300,000& %12 300
o=t 2E ol 300,000& %12 300




A ANEAMH A
A JoAEE2 23 |4 S4(2ay /)
Selr AgAEE2 29 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ogt= US| H |
300,000 %12 300
ofgs H A8, IS
200,000& %12 200
ONES BUEFZ 222 (48))
16,700,000 *13] 16,700
OAlgE FIIHEEE =+=2(5tEHD])
4,000,000& *12] 4,000
OXtEs &J|gl| A =5
4,000,000& *12] 4,000
@Jul=d:] 7,100
ot ZH| 1,300,000& x5 6,500
oXtg == 50,0002 1CH =12 600
OXtg = A2/l 50,0002 *1CH* 12 600
Oos=2Ald & Fl FAlZclsl
2,000,000& 128 24,000
Od, A4 R 2=
1,500,000 43 6,000
03 A= SHI 26,000 26,000 0
ODMY NELS BT 2
8,000,000& 22 16,000
O72A HS D20 29
10,000,000 * 12l 10,000
202 04l 3,000 3,168 A168
01 2LHoIH 3,000 3,168 A168
Ogsd 28 428
100,000 *3Z 22 +53] 3,000
206 MH=H| 18,000 19,400 21,400
01 M=4l 18,000 19,400 21,400
Ogt=2 Ald2tclE N 28
300,000 *62] 1,800
O&AlA F&aEY 7
700,000 3K 2,100
ogtsd I 2 550,000 *62| 3,300
OxFBR| W2 L B2
600,000 *32] 1,800
OMEgZ2d 2dME 72
1,200,000 #62 7,200
O8AE M=+¥ 150,000& « 12 1,800
401 A& HIX R0 20,000 135,000 115,000
01 AlZH| 20,000 135,000 115,000
OXSAIS=2t HANE=E 2 10,000
oWEd = HAIXY B
10,000,000 10,000
OXgAtETE2 2CAEE B 10,000
oOHEA NIl 2= SAt
10,000,000 10,000




A ANEAMH A
ZH: TSASSR 23 R4 S5(2UDT/BY)
Selr AgAEE2 29 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
405 AHaHE = 16,000 16,000
01 It =S F = 16,000 16,000
OU22 HAER(34) 7Y
2,000,000 +88 16,000
24 A& 29 53,800 69,040 15,240
201 ger=3| 22,400 22,400 0
01 AtR2te|H] 1,800 1,800 0
O&Jerdze| e+ 2
150,000« 12& 1,800
02 S5=24g4l 20,600 20,600 0
O=32=  HAl 12,600
oMIIRS 900,000 * 122 10,800
o= 150,000& 122 1,800
OAIEEbBI= X 8,000
of2a HIANE |2+
3,000,000& 3,000
CRUAL AL2Y Byl
5,000,000& 5,000
202 04| 2,400 2,640 A240
01 201 2,400 2,640 A240
OBZNL SA 22| YRE
100,000 «3E*x2 2 *43 2,400
206 MH=HI 4,000 4,000
01 MHZHI 4,000 4,000
ORY BAFY ¥ £Z 22 W2 P
1,000,000 *23] 2,000
OP2LZZX BETY
1,000,000 %22 2,000
401 AIEHIZ SR OHYI 25,000 40,000 15,000
01 Al&HI 25,000 40,000 215,000
o724 22X AlE Ei 25,000
oREZE U3 10,000,000& 10,000
o= I &Hl 15,000,000 15,000
=IHI23% 29 64,575 27,700 36,875
201 fet= 3| 3,200 3,200 0
01 AtR2t2lHl 1,200 1,200 0
O=IHNa2SZMEA 28 223
100,000 »12& 1,200
2 S5=2g4l 2,000 2,000 0
O=ItNE 33 AE= RXl2c
1,000,000& 22 2,000
301 EtE N = 50,400 50,400
4Bt 2 a3 50,400 50,400
O=JINESHNEA &SH|
70,0002 x62*103|* 122 50,400




A ANEAMH A
A JoAEE2 23 |4 S4(2ay /)
Selr AgAEE2 29 2435t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 600 600
06 2= 600 600
O=JHESHMNEA o2
60,0003 %10 600
308 AtXIEMSOIE 10,375 24,500 A14,125
07 HXHH 2R 52 10,375 24,500 14,125
O=IHas% gdst MAHMLIFEES
10,375,000& *13] 10,375
JET HE 2F 4 (NAEE ) 12,000 15,000 23,000
& 3,600
Al 8,400
206 M=l 12,000 15,000 23,000
= 3,600
Al 8,400
01 MZH| 12,000 15,000 A3,000
OLNEH =AML= RI| WS At 12,000
ocllM=E WEM N 12,000,000& 12,000
== 3,600
Al 8,400
2N SIS SIS 28 a7 SU=Y 360,815 200,000 150,815
NS A
308 AHXIEMSOIH 33,315 33,315
07 HXHHLREE2 33,315 33,315
O4MAIZ HAHAMS KRR ES
3,315,000& %12 33,315
401 Al HIZ S OHbI 317,500 200,000 117,500
01 AlZ2H| 317,500 200,000 117,500
SEAHE 22 150,000,000 150,000
O72a & 3&4 2|24d
167,500,000 167,500
EHS=2 BZ 2 HS(2aL2Z/23H) 475,666 183,797 321,869
s 110,000
Al 365,666
sz JlsdEt 475,666 183,797 321,869
[ 110,000
Al 365,666
Eds= 29 2l 475,666 183,797 321,869
= 110,000
Al 365,666
101 @124H| 51,956 22,103 29,853
M IIRINZENSES 51,956 22,103 29,853
Ogois= 2d2el(3A2el) 51,956
S 59, 1603 x2&H 262 31,000
oFFrd 59, 1603 x2& »52& 6,153




SA ANEAMH A
M Z2Hs= 2 2 HS (2L 2E/25HH)
el Eds= JIsds (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o Xtr=g 59,1602 x2 11 1,302
o ZHAH| 5,000& x2& »243 2,430
ogdIRrY 88,7403 x2& 19! 3,373
o HE S I 500,000 x2H +23] 2,000
c4EE= 43,826, 1202 % 13% 5,698
201 Ler23| 125,910 119,710 6.200
01 At2teltl 53,550 52,010 1,540
ONsaEsa)| 8z
77,0002 10+ 122 924
O=g)l gitz 154,000 1CH* 122 1,848
OEgsS= H2EE= MH 6,750
o2 MA 300 +10,000% 3,000
oE2JIEE MA 1,500& %2, 500 3,750
Oblaefs g 100,000 %23 200
Os=3ad 225 7Y
100,000 x2S+ 122 2,400
O&8=J| Xtz 44,9003 =2+ 123 1,078
o2& =8 M= el
140,000& * 122 1,680
OARES 7¢ 100,000 «12& 1,200
O™EARINI 4225 7
300, 000& *2LH*22] 1,200
Os= 28 228 728
100,000& * 122 1,200
Ofges =tz 15,0003+ 104~ 123 180
O&IIQtM 2| ?IE =2
160,000« 12& 1,920
ORIFHIAIAE KX2el
350,000+ 122 4,200
Os=S=+ Sl 8tz
600,000 «1CH* 10 6,000
O2=XelAE Fh&el 24
1,500,000& «12& 18,000
OEHER, st 2 M=
400,000 2CH 800
Oosgzgd Lol sX2e
60,0002 * 122 720
(OF] I=Eot=d 130,000,000 *2. 5% 3,250
02 S5=24g4l 72,360 67,700 4,660
O=32=  HAl 38,560
=|PTV 0IZ2= 55,0002 123 660
SESPIRCA=] 1,800,0002  12& 21,600
oot R23 100,000 »12& 1,200
odstX HAZ 300,000 x35+12] 900




SA ANEAMH A
M Z2Hs= 2 2 HS (2L 2E/25HH)
el BHs=2 JIsdE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oENEX Yty B8
2,200,000& 2,200
o233 2303 1,000,0002 122 12,000
OS2 el
400,000 =24 x5 4,000
Ozt 20,800
ogog 16,000,002 16,000
oYW 2BXIT(SET)
200,000 «1CH* 122 2,400
cPRE MEXE(3H2)
200,000 = 1CH* 122 2,400
OEgsS= AIEdHl |2
4,000,00024 4,000
OBRE208 #REls gl
5,000,000& 5,000
202 04| 1,800 1,584 216
01 =LHOLI 1,800 1,584 216
OBUEE 29 g2z
100,000 x3& x2 2 «32] 1,800
206 M=l 12,000 10,400 1,600
01 MZH| 12,000 10,400 1,600
OO0rdatatet 22|z 28
2,400, 0002 2,400
OS2 A2 2% HaY)
5,000,000& 5,000
ON&E Mz & 1,600,000 1,600
OO0rdztEE OFAINE &
3,000,000& 3,000
401 Al HIZ S OHbI 275,000 0 275,000
s 110,000
Al 165,000
01 AlZ8| 275,000 0 275,000
OHE EH= HEXE wH & A S Al
2= 2= 275,000,000 275,000
< 110,000
Al 165,000
405 AtatE = 9,000 9,000
01 ML ESFSHI 9,000 9,000
OzgH 25FH|(NL) 7Y
30,0002 *300H 9,000
AL AU (AMSAIZA) (OIEH/DIEH 41,088 19,976 21,112
Jl=3H| 41,088 19,976 21,112
Jl=3H] 41,088 19,976 21,112
201 er23| 33,908 14,19 19,712
01 At2teltl 33,548 13,836 19,712




2A:

AE A A

M HAPAZHI(AIZAIEA)(OIEH/DIE
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORAMEg Iz 24l 160,000 123 1,920
ONSEE TU(ZAX E)
250,000 x 12 3,000
O=g)l gz 143,000 *1CH* 122 1,716
Or==i:] 8,000& x18Hx4L « 12 6.912
ONEAIRA AZ DESITY AR
20,000,000& 20,000
02 S3=gl 360 360 0
OoRER3 30,0002 x 12 360
202 04| 1,080 1,140 260
01 =LHOHI 1,080 1,140 260
OHIAZS ZLOIY)
20,0003 » 1832 1,080
203 HR=H] 6,100 4,640 1,460
02 FRItArE =AY 1,240 1,040 200
O It =AY 40,0002 *31< 1,240
MU A2 LRSI 4,860 3,600 1,260
ORANEgg =AY 405,000« 12& 4,860




